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Subtracting without Regrouping Name:
Solve each problem. Answers
1
1) 926 2) 2,357 3 72 4) 649
- 603 -1,203 -10 - 408 5
3,
4,
5 6,334 6 87 7 987 8 1,791 >
-4,121 -25 - 235 - 270 6
7.
8.
9 23 100 371 11) 6,827 12) 61 9.
-1 - 10 - 312 -50
— — —_— — 10.
11.
12.
13) 372 14) 4,864 15) 55 16) 477 13
- 10 -2,110 -23 -223
T - T T 14,
15.
16.
17) 4,334 18) 57 19) 859 200 7,193 17
-2,221 - 3 - 625 -4.012
18.
19.
20.
1-10 [95|190|85(80(75|70| 65|60 |55|50
[ M ath ] www.CommonCoreSheets.com 8 11-20|45140(35(30|25|20(15(10|1 5| O




=

Subtracting without Regrouping Name: Answer Key
Solve each problem. Answers
1 323
1) 926 2 2,357 3 72 4 649
- 603 -1,203 -10 - 408 ” 1154
323 1,154 62 241
3 62
4 241
5 6,334 6 87 7) 987 8 1,791 > 2213
- 4,121 - 25 - 235 - 270 . 62
2.213 62 752 1,521
- 752
8. 1521
9 23 100 371 1) 6,827 12) 61 0, 22
-1 - 10 - 312 - 50 361
22 361 6.515 11 10
11 6515
12, 11
13) 372 14) 4,864 15) 55 16) 477 13 362
- 10 -2,110 -23 - 223
362 2 754 32 254 w2054
15, 32
16, 254
17) 4,334 18) 57 19) 859 20) 7,193 - 2113
-2,221 - 3 - 625 - 4,012
2,113 54 234 3,181 18, o4
19. 234
0. 3181
1-10 195(90(85|80| 7570|6560 |55 |50
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Subtracting without Regrouping Name:
Solve each problem. Answers
62 11 6515 361
2213 241 62 1154 1
752 1521 22 323
2.
) 926 2 2,357 3 72 4) 649 3.
- 603 -1,203 -10 - 408
— I — — 4,
5.
6.
7.
8.
5 6,334 6) 87 7) 987 8 1,791 0,
-4,121 - 25 - 235 - 270
- - - - 10.
11.
12.
9 23 100 371 1) 6,827 12) 61
-1 - 10 - 312 - 50
M odified 1-10 | 9283 75|67 [58[50] 4233|2517 |
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